= A
N = 0 & AF S 99 N A
20178 & 20 FEAMLSELEIH EA
SN AEBFDY
HE: Fe A8 U 29
Sl BOIFSAY SHHN SY(FLALASHIN) (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
AZH A 786,340 773,020 13,320
FEH HAE Y 29 786,340 773,020 13,320
2OIFEAIY EYFH SH(FHAMAESLEIAH) 786,340 773,020 13,320
=0l e e 210,248 174,475 35,773
201 2Et2Hy| 120,743 105,822 14,921
01 AP 2t 2] H| 51,442 51,442 0
Ogt4f2H| 50,602
— Z20IFE MO HYR HEASH L D|E
ArS 4,500,000& 10 Al CH 45,000
— DI YA BHEILSE
250,000 *7JH 2200 J| & 3,500
— 40l T2y EY 237,000& x1CH x63] 1,422
— T glE #=4H| 50,000 *1CH x4 3] 200
— EAEX 20,0003 x22t A x 128 480
O=gl 840
- 2oiFessz Fol Y BIALR L
E224H| 7,000 x2H x5 x12& 840
02 222%4| 69,301 54,380 14,921
OZ2222 ¥ HA 4,052
— Z20IFEH HIOIOIIIE &L 0|22 aI StME
S (19MITH,7HA) 200,000 =14l 200
—&AJIHEA ZHELx oY HESSY SO
H= 1,930 *35MI CH *63] 406
—ZIJIHEA ZHELx ot LHESSY SOl
== 1,630€ x200= 326
— HIIMXIOIIHE 022 AI HIR=2
50,000& 123 600
— HIII2XIOIHE OS2 LA HIR=S
30,000 «7H A +123] 2,520
O=elFe HINALR 28 223
3,000, 000& 13 Al CH 39,000
O=p=e BIMLYR 43 B2
96,000 =13 Al CH 1,248
OA&E &l |l 25,001
— HIIOH,2XI0ITHE DS A AlE KXY
297,620+ 7 A x 12 25,001
202 044 7,868 8,016 A 148
01 2L HI 7,868 8,016 A 148
OFeiasiz AJMHEN 2252 2UHAHY]
20,000 »3H «83| x12& 5,760
OFeiasiza AJMHEN 8252 22 0]
210,800 »2H 53| 2,108
401 AlEHIZL 2 0HY| 70,000 49,000 21,000
01 Al& H| 70,000 49,000 21,000
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SA - BB B () - MM - BES Ol &t o San HmEET
OHIIH ,2XI Ot E D2 &It 2+ & &#3H
HI o & 10,000,000& *7H £ 70,000
802 BtEt= DI EF 11,637 11,637 0
03 Ugd=3s 11,637 11,637 0
OHIIHX LUOIIE HAZ BHE
5,818,070& =2 All CH 11,637
ol gl gl 576,092 598,545 N 22,453
801 oIl 576,092 598,545 AN 22,453
01 etoildl gl 576,092 598,545 N 22,453
Oouldl sl 576,092,000 » 14! 576,092
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